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Name ID: 1

Algebra |
Period

Assignment Date

Simplify. ‘Write each answer in scientific notation.
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1) (139 x 10°)(8.25 x 10") 12) (5 x 10%)(1.45 x 107)
13) (3% 107)(5.65 x 10") 14) (9.26 x 105(5.9 x 10°)
i G
15) 1.6><1£)3 16) 1.2><101

5x 10 9.9 X 10
i 2
7y 3910 1) 133x10

1.6x 107 2.05 % 10°



Simplify. Write each answer in scientific notation.

9) (5.8 x 10(1.25 x 107)

1'1) (1.39 x 107)(8.25 x 10)

1.147 % 107"

) (3% 107%) 565><10

? 452x 107 }

10) 3 x 10%)(7 % 10

12) (5 % 107)(1.45 x 107

( 725 % 107! E

14) 926x10 59><10

{ 5.463 x 10 ?

@’13’;101 ;

15) =27 16><10 16) 1.2 % 10°
5x107° 9.9 % 10
3.2 % 10 2 if'“\E
( ] 1212><10 %
7 3.9%107° 18) 1.53 x 10%
1.6 x 10‘1" 2.05 x 10°
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o 19)& 20) 8 % 10°
6.4 x 10 9.84 x 10~




